
Enigma

This weave uses the same AR range as Byzantine, usually around 3.5.  This chain consists of units 
of ten rings linked together with a further two rings.

1. Start by making a 2-2-2-2-2 chain.

2. Fold back both end pairs of rings towards the centre.

3. Make another unit and lay it next to the first one.
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4. Connect with a ring through the two folded-back rings at one end of both units (i.e. through four 
rings in all).

5. Then repeat at the other end of the units.

6. Add more units as required.
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